Circular
Con necto r

B E

~ /Y
' @ A
\
\ \

= FE BT !
E]I!]ﬂ Delight Through Connections DC-33.2C




-8 R e -

RIR SCEN A I

B 1983 FT &S #itm eIk, SHIL40 FHNELREFHNFEELXR ST UK, SRHE]FERERALH
Tl e ERHHIER.

AY f—r
NS

HF AT AEHILT, A2TEERRS MRS EM, SR, ZZRE. IRBRR. 2aHES LiEHH
ERSAE, TIHARUNFRATL, SENESREKEMEATORATER, LEE~HEREDSERFES
BEFF. FS5EAREROIREAFNETFRBMAEXR, XRATIEURBERMH“ 2R ER—RE
FaSERE R,

BMEE A0 FRAZNEKEFPRSEN, RMNAGHEIWSEIAKTL, EF—FLMERHEEM, MEElE
BARERASESG], ATAFBEN~RRn B EANMRS BN R TIERAKTE. EWEMRSERNTRRITAEZL
B, RNRIFENEX, FRARNMNERRFIELSHENE, ERTERNBRE R, TRENFIREM4, BH#Hs
AESRINMNEEPREFEZIRE.



FmEESS

m EEMS

W TREILREE, EAEE

m f§4 P68 BhirtntE, BaKBrL
m iRapAAE

w R, 360° T
m EFRiE A S

B & RoHS #rif



WNBRNI B — REFIIFESERE

EL &&EUEERS, AMIFEAENEIR. FSMEEERE, FAIREERNRE
UHLEE MU ERRERRLTR. TRESFTEATERBENESHELG, TEATABTE
IRADHY AR ML HiEeR gt, RS AE N NASUSRMEMIIBRE R,

BT¥Am0E M12/M8 B iE#EzE, BEASREMMZHMNSS. HE IP68 XU LEEXR, EFT
BHEES. BETUAIMIREINES TAIME., Fislgke cIRiGRE, AFEEHESL, Tk,
BinFiEIR PVC A1 PUR 48, (FIAAI&ERIE. HABIRESEEKETE,

F=amfh

RS/ PATRREE S ISREpN g =2 HR(ELE

* M8/M12 EFER =R, & - RiETER. BAEX. PCBRK., - BAEORRER
IEC61076-2-101/104 & itHr 4, ERNFZ M RRERES c pUESHE, BIERIESHIE

360° £ R - 121 PUR. PVC #IREHIER LS, A
- |P68 #BIRFHKZR B E A AR AT LUR R I - SHEMIE, B4 UL2238

M12 A-Code 4= BAfRIEE Ziias N

- 5NHHERE, 54 IEC 61076-2-101 * B TM-R FRAFICE CRE—RIBEE. T MK, BRI
Wit . eibMECE 7l T HEHENE, HREEAERRBE
- % LED TAEISRAT, $21#4/6/8 f;f:;i; “fz_ff s LIRS, MARMEBRENS
B /WS IR WX, W 2 FOE:

RS /TR - M12
H&R i/ MWsEsk | A-Code | I

—_
—_

kR Bi8/WiniEk /B-Code & D-Code / ik 12
kI B/ WiniEsk / A-Code 13
WLk i/ BBk / B-Code & D-Code 14
kR Y B =jB3Ek A-Code 15

G
H\
NS

ERLEE Nk E - M12

[EE T 4 4 1 | M23 R S EE 16~20
fRRLES /N 1TRS - M8
kB IB/ Wik | A-Code & B-Code 22

I
=

Al jEB{E - M12

LRI LUK R 2 Bl / Wh3ESk / D-Code & A-Code / FRilit 23~25
ik IA Rk Bih | WihiEsk / A-Code & B-Code / Rl 26~27
‘A EERT - M12

M12 B35 (PID) 3% A-Code & B-Code & D-Code / ik 28~30
HIRZZE -M12

sk A-Code / B-Code & D-Code / R# il 32
weas ok [ZIBITUEA (PROFINET,EtherCAT) / Rl 33
sk M7 M %ER (CC-Link, CANopen, PROFIBUS) / BRifi 34
HHF% & 12# %t/ A-Code / B-Code & D-Code / S-Code & T-Code 35~37

|

HiRZ % - M8
BT & I8#%t/ A-Code 38~39

PCB £ % - M12

124% / A-Code / B-Code & D-Code & T-Code 40~42

PCB &% - M8

824 / A-Code & B-Code 45~44

L RIRE] - M12
W B/ WintESk / S-Code & T-Code 45~46

Aot

M8, M12 RHIBIRZH = 47~48

2 Dinkle =

== Dinkle 3



P am iRk

M8
A-Code %tif

=1

el
Ei|
i

N
IS

o

) @p
w

IS

1%

A-Code %tifs

M8 (@)
A-Code FLi# O Ot O Oh
M12

w N
G
PN

e@

B-Code 4t

M12 1 1/0 O\2 1@602
A-Code FLi# 4\O O/s3 4\O 0O/3 O O/s3
2_4

M8

&

M8
B-Code 7Li#%

ES
(N}

w

M12
B-Code 4t

N

w
N

N

w
ES

M12
B-Code FLi#

[N

0/\o) \
oﬁo! y

w

[N)

2 (3|8

IS
w

~
A
Y

S-Code %t

M12
D-Code %tif 3\R 4
| N
M12 1790
D-Code FLs# 4\ OJ0Ys
M12

M12
S-Code fLif

M12
S-Code %tifs

M12
S-Code 7L

M12
T-Code %tif

M12
T-Code FLif

FEF &SRR TE @bz mm)

g 49.8 L ; 462 L

: ° |

2 ——

g 345 L
: IIED==
L Sw9
M8*1
R ZEEREIZRTE @iz mm)
B4t % 2m PUR 2% B4t %5 2m PUR %%

38.50 L 41.50 L 38.50 L

-

38.50

17.60

(PG9)
M16*1.5
M12*1
(PGY)
M16*1.5
L
(PGY)
M16*1.5
M12%1

M12:1
swi7 / \ Sw19 sSw17 SwW19 sw19 swi7

JE8= 7 0.5m B F 4k RIBIR 7 0.5m B F%k
20.0 L 20.0 L 23.0 L ) 19.6 L
7.0 176 _
-
ol T Y [ s | 2| g8 S— .
L., =7 !
1 UJ
SW17 ; N\ SW19 Swi17 SW19 SW17
B W R AR T SRARE
20.0 20.0 23.0 19.6

020.9
M12*1
(PGY)
020.9

M12*1
©20.9
(PG9)
M16*1.5
M12*1

M16*1.5
(PG9)
©20.9
(PG9)

M16*1.5

7.0 8.5 210 . 176 _
A
' \_swi7.

Sw19 swi19  / Sw17

(

A 5 0.5m L& AU 5 0.5m B F &

18.0 L 157 L 16.5 L 15.0 L
9.5 75 12.0 10.0
N

:_ - ) _ l-l'\') rencee] 1)

£ —— & ]| (= : ——
=

swio / Swi10 swio / SW10 SW11 \ swi2 swit1/ O\ swi2

012.6
012.6

$11.0

M8*1
M80.5
911.0

BEH w IEE RIS W IEARE
18.0 25 165 Z3
: 157 25
12,0
95 75
2l ¢ s 8 e ¢ ks 9 o T T ol 8
ik = e ||| F L] ok
SW10 Swi2 SW10 SW12 SW11 swi12

4 Dinkle ==

== Dinkle 5



PCB % 3 i HEss R~ &l (sfi: mm) HRZR=TFLATVIE S SR - M8 (afi: mm)

3P 4P 6P 8P 5P
BLHMGRE A T ERIEE A 4 4 2 4 2
00 @]@)
210 50 30 176 50 30 32.7 203 3O O O Oh 30 2.0)
21.0 sw17 17.6 SW17 O
o 22| ¢ 2| g7 o o J Y 8
g 8% ¢ § et g 85 & g 85| &
S| &g| 5 sleg] = s| &g| = 7
6 Pink # 6
swi1g / swig / 40 |58 w19 " 40| |58
“0 5 Gray 7% 5 Gray X 5 Gray X
4 Black 2 4 Black 2 4 Black 2 4 Yellow = 4 Black 2
BELHEGE i BkhfiE mrsist 3 Blue & 3 Blue % 3 Blue % 3 Green 4 3 Blue i%
- i i = 0
210 50 50 e 50 a0 120 60 30 100 65 30 2 2 White H 2 White H 2 Brown #% 2 White H
i ‘ ‘ 1 Brown #5 1 Brown #3 1 Brown #3 1 White H 1 Brown #3
i r © F © [ o B
21 85| & 2187 |§ S b g g
S &,g 2[ S g.,g 2[; 5= | 5 2 4 :
swig / sw17 swio Sw17 swio \_SW12 swir / w

AR LS FLHTI B 5 S5 E - M12 )

330
3P 4p 5P 8P 12P %, -
; ‘}L\, 912 7 2@#‘ " Nw.
U O U [ ~ g a:
1 2//0 o\ 1 2 5 1 @ i@ s RT3 i
e} | R | o
3 4 3\\o o//4 3 4 T © /',X) @\@/@ IS
5.0 955 | %
o Red /Blue 4/ B M12 - A - Code EkaifHizt (51)
11 Gray / Pink & / %) S LB
$
10 Violet % ‘ 2 j‘@? Y bs
5 N by
° Red 4 hld g Rl d |
i s o L J
8 Red 41 8 Gray 7% 3 2 e
e
7 Blue f 7 Black 2 95.0 250 955 ©
6 Pink # 6 Yellow &=
5 - 5 - 5 Gray 7X 5 Gray 7X 5 Pink #
4 Black 2 4 Black 2 4 Black 2 4 Black #= 4 Green %4 1/ O
3 Blue 1% 3 Blue % 3 Blue I 3 Blue & 3 White 5 A\O O/s
2 = 2 White [ 2 White B 2 White #3 2 Blue 1%
1 Brown %3 1 Brown #z 1 Brown %5 1 Brown H 1 Brown #%
3]
3P 4p 5P 3p 4p 4p 2

4P
4
2//0 O\\1 2// 050 \\1 [ole}
o
3 4 3\\O 0 //4 3\\o o0 /)4 3\R0 0 /)a

5 - 5 = 5 Gray 7R :

8
4| Bak® | 4| Bak® | 4| Back 2 |4 Blue I | PE é‘j’é‘;ﬁ’ %/ | PE éﬁl‘;"r‘]’ %/% | 4| Black T\
3 Blue ii5 3 Blue & 3 Blue & 3 Orange #& 3 Black 2 3 Black = 3 Blue & g & ‘ b
2 - 2 White B 2 White & 2 White B | 2 - 2 | Black 2 2 White & ° T
1 Brown %z 1 Brown #3 1 Brown #3 1 Yellow # 1 Black 2 1 Black 2 1 Brown #% =

6 Dinkle == == Dinkle 7



T5EE -M12/ 5L/ A-Code (#fi: mm)

.L

T
24

.1

Y

i

PCB L& iit&2E -M12/ Bk / B-Code & D-Code (#fi: mm)

08
0Lz m.v_
1z 0re
o
0l 02T mm, 0L Texe ©
=) 4 )
MHEES B
4
8.%,“ G0'L0x8 — mo.%h 50'L0x8
0 0820 s 0820XC
= S8l | 5
c L
= v |2
.. 5 ESCaP
2 y
o
5000420 o 0LTOE nm\._. 50 | wi
S9'L
g (O]
£ 3| f S
& ) (@)
“_UW c00.08°20%C “W 0 Z0820xC m
fr fr o8 .
[}) (] (] [t}
° °
o o ©
o o @)
; : @)
< <
' Oolzexe ' Jolzoxe !
S0°0+ SO0+
o 8 <
= = S of w ™~
°| 2 o~ 7
S | N._/
SO'0F0E"LOXY ._.EH_
500,08 20T 00870 & o
|
fet]
JoLzoxe
S00+
4
o
< |T
el —
o
o &
R
H
500:0829%2 500:08°29%2 ‘IWR
(0]
o
s -
m = m ~
I it L & .
12 & ziox 42 &' TIo%w
= n_m ~ © B “_m
i * D\ | K
= i © [0 & S IR ZARS
7 i S A 2 7] ey Ll I °
i ) Vi 8 OO | N (] + ———+ 8
[ .M % i (] F/ .W \& °
9 i /
) S N - ¥ o C\) &5 | O a
[<] ' [<] '
8 3 S 8
L] L}
a o~ (=] N
[ -~ [ -~
o~ = N =
= =
= =
(o)) |
fo4 &
\oyo /
-
- < C.\)me
i -
& & & 5
ﬁ = ﬁ ~
ﬁ H ﬁ um | Il
L - :
K enl.u. 7105 “ . ﬂ 050 en_w zLoxy
= ”_a\u 6 NW.L,/@ e “__uw
= 7 = | \ 7
= i O C= =N - I B D N | B 2R
N._/ : o N._/ ! ] € 7 o
i 0| v t—A— 3 oo i e ] [} R |
) 8| « | ° 3 o S . el e 1% =
g o & ~al o . - LA (&) &
[<] ' <] i
: ; . :
L] L}
[11] o~ m N
] -~ [ -
o~ = N =
= =
= =

== Dinkle 9

8 Dinkle =



TRER/ITER -M12

BTEfRE M12 IS EEFZESSREMMZER M, BFKBLE, EATIR). BEETHXE™E
INE. SIMRENFRRE, ERHRERSSEHENENTEE. B33 12 (L2
#hE, PVC. PURBEME RRELSERE, #ELKMIWIRENA.

R/AMEBRRE 100 250VAC / 4A (< 4 Pin)
BrPEFR IP68 60VAC / 4A (5 Pin

-40°C ~80°C (S NEERE B/ R 30VAC/2A (8 Pi )
SRR R EEEE) (® Pin)

-25°C ~ 80°C(HL& AR E) 30VAC / 1.5A (12 Pin)
HEHE 0.4 N-m i &/M00MQ
Bk | REER WeEs/ & IEC 61076-2-101: Detail specification for M12
S8/ 85kE PUR/PUR connectors with screw-locking
BiHE NBR SR IEC 60512: Electromechanical components for electronic
L lrg—ac] A G equipment;basic testing procedure and measuring methods
R&E EIRMLARL SF-UTP IEC-60529: Degree of protection provided
ek PUR (UL AWM 20549), PVC (UL AWM 2464) by enclosures (IP Code)
FEIREHR, Fra UL 94 HB IEARAE UL 2238
EREMENB SIS E, PARDEEFERETECERNEHRRT. WREERAMEXBWSENER, NLAERRIPEFR >IP54 KBFEFEEE
. THEERELL, B PCB AHEMAIFN.

3
)\«h\b’

R EB1ESL / A-Code / Rl

@ 2m | 251-A3000-25S020 | 251-A4000-25S020 | 251-A5000-25S020 251-A8000-25S020 | 251-AC000-25S020
e PVC 5m | 251-A3000-25S050 | 251-A4000-25S050 | 251-A5000-25S050 251-A8000-25S050 | 251-AC000-25S050
/ 10m | 251-A3000-25S100 | 251-A4000-25S100 | 251-A5000-25S100 251-A8000-258100 | 251-AC000-25S100

‘*f‘) 2m | 251-A3000-05S020 | 251-A4000-05S020 | 251-A5000-05S020 251-A8000-05S020 | 251-AC000-05S020

o © PUR 5m | 251-A3000-05S050 | 251-A4000-05S050 | 251-A5000-05S050 251-A8000-05S050 | 251-AC000-05S050

10m | 251-A3000-05S100 | 251-A4000-05S100 | 251-A5000-05S100 251-A8000-05S100 | 251-AC000-05S100

@ 2m | 252-A3000-25S020 | 252-A4000-25S020 | 252-A5000-25S020 252-A8000-25S020 | 252-AC000-25S020
e PVC 5m | 252-A3000-25S050 | 252-A4000-25S050 | 252-A5000-25S050 252-A8000-25S050 | 252-AC000-25S050
/ 10m | 252-A3000-25S100 | 252-A4000-25S100 | 252-A5000-25S100 252-A8000-25S100 | 252-AC000-25S100

. 2m | 252-A3000-05S020 | 252-A4000-05S020 | 252-A5000-05S020 252-A8000-05S020 | 252-AC000-05S020

" ® PUR 5m | 252-A3000-05S050 | 252-A4000-05S050 | 252-A5000-05S050 252-A8000-05S050 | 252-AC000-05S050

10m | 252-A3000-05S100 | 252-A4000-05S100 | 252-A5000-05S100 252-A8000-05S100 | 252-AC000-05S100

@ 2m | 253-A3000-25S020 | 253-A4000-25S020 | 253-A5000-25S020 253-A8000-25S5020 | 253-AC000-25S020
e PVC 5m | 253-A3000-25S050 | 253-A4000-25S050 | 253-A5000-25S050 253-A8000-25S050 | 253-AC000-25S050
10m | 253-A3000-25S100 | 253-A4000-25S100 | 253-A5000-25S100 253-A8000-25S100 | 253-AC000-25S100

> 2m | 253-A3000-05S020 | 253-A4000-05S020 | 253-A5000-05S020 253-A8000-05S020 | 253-AC000-05S020

$t 6"} PUR 5m | 253-A3000-05S050 | 253-A4000-05S050 | 253-A5000-05S050 253-A8000-05S050 | 253-AC000-05S050

© 10m | 253-A3000-05S100 | 253-A4000-05S100 | 253-A5000-05S100 253-A8000-05S100 | 253-AC000-05S100

@ 2m | 254-A3000-25S020 | 254-A4000-25S5020 | 254-A5000-25S020 254-A8000-25S5020 | 254-AC000-25S020
o PVC 5m | 254-A3000-25S050 | 254-A4000-25S050 | 254-A5000-25S050 254-A8000-25S050 | 254-AC000-25S050
10m | 254-A3000-25S100 | 254-A4000-25S100 | 254-A5000-25S100 254-A8000-25S100 | 254-AC000-25S100

W 2m | 254-A3000-05S020 | 254-A4000-05S020 | 254-A5000-05S020 254-A8000-05S020 | 254-AC000-05S020

7 ‘ PUR 5m | 254-A3000-05S050 | 254-A4000-05S050 | 254-A5000-05S050 254-A8000-05S050 | 254-AC000-05S050

© 10m | 254-A3000-05S100 | 254-A4000-05S100 | 254-A5000-05S100 254-A8000-05S100 | 254-AC000-05S100

-
e

YW B3ES / A-Code | Rk

-,

N 0.6m | 256-A3000-25SL60 | 256-A4000-25SL60 | 256-A5000-25SL60 | 256-A8000-25SL60 | 256-AC000-25SL60
o PVC 1.5m | 256-A3000-25S015 | 256-A4000-25S015 | 256-A5000-25S015 | 256-A8000-25S015 | 256-AC000-25S015
' 3m | 256-A3000-25S030 | 256-A4000-25S030 | 256-A5000-25S030 | 256-A8000-25S030 | 256-AC000-25S030

‘*f) ‘ 0.6m | 256-A3000-05SL60 | 256-A4000-05SL60 | 256-A5000-05SL60 | 256-A8000-05SL60 | 256-AC000-05SL60
o 1 PUR 1.5m | 256-A3000-05S015 | 256-A4000-05S015 | 256-A5000-05S015 | 256-A8000-05S015 | 256-AC000-05S015
© 3m | 256-A3000-05S030 | 256-A4000-05S030 | 256-A5000-05S030 | 256-A8000-05S030 | 256-AC000-05S030

0.6m | 257-A3000-25SL60 | 257-A4000-25SL60 | 257-A5000-25SL60 | 257-A8000-25SL60 | 257-AC000-25SL60

PVC 1.5m | 257-A3000-25S015 | 257-A4000-25S015 | 257-A5000-25S015 | 257-A8000-25S015 | 257-AC000-25S015

& / 3m | 257-A3000-25S030 | 257-A4000-25S030 | 257-A5000-25S030 | 257-A8000-25S030 | 257-AC000-25S030
‘\ ) ‘f:\} 0.6m | 257-A3000-05SL60 | 257-A4000-05SL60 | 257-A5000-05SL60 | 257-A8000-05SL60 | 257-AC000-05SL60
ko) §t PUR 1.5m | 257-A3000-05S015 | 257-A4000-05S015 | 257-A5000-05S015 | 257-A8000-05S015 | 257-AC000-05S015
® 3m | 257-A3000-05S030 | 257-A4000-05S030 | 257-A5000-05S030 | 257-A8000-05S030 | 257-AC000-05S030

0.6m | 260-A3000-25SL60 | 260-A4000-25SL60 | 260-A5000-25SL60 | 260-A8000-25SL60 | 260-AC000-25SL60

PVC 1.5m | 260-A3000-25S015 | 260-A4000-25S015 | 260-A5000-25S015 | 260-A8000-25S015 | 260-AC000-25S015

3m | 260-A3000-25S030 | 260-A4000-25S030 | 260-A5000-25S030 | 260-A8000-25S030 | 260-AC000-25S030

0.6m | 260-A3000-05SL60 | 260-A4000-05SL60 | 260-A5000-05SL60 | 260-A8000-05SL60 | 260-AC000-05SL60

# # PUR 1.5m | 260-A3000-05S015 | 260-A4000-05S015 | 260-A5000-05S015 | 260-A8000-05S015 | 260-AC000-05S015
© 3m | 260-A3000-05S030 | 260-A4000-05S030 | 260-A5000-05S030 | 260-A8000-05S030 | 260-AC000-05S030

0.6m | 263-A3000-25SL60 | 263-A4000-25SL60 | 263-A5000-25SL60 | 263-A8000-25SL60 | 263-AC000-25SL60

PVC 1.5m | 263-A3000-25S015 | 263-A4000-25S015 | 263-A5000-25S015 | 263-A8000-25S015 | 263-AC000-25S015

R 3m | 263-A3000-25S030 | 263-A4000-25S030 | 263-A5000-25S030 | 263-A8000-25S030 | 263-AC000-25S030

(h,y)‘: ) 0.6m | 263-A3000-05SL60 | 263-A4000-05SL60 | 263-A5000-05SL60 | 263-A8000-05SL60 | 263-AC000-05SL60

# # PUR 1.5m | 263-A3000-05S015 | 263-A4000-05S015 | 263-A5000-05S015 | 263-A8000-05S015 | 263-AC000-05S015
© 3m | 263-A3000-05S030 | 263-A4000-05S030 | 263-A5000-05S030 | 263-A8000-05S030 | 263-AC000-05S030

10 Dinkle =

== Dinkle 11




REEERMNITER-M12

% W B B B D
- i 3k 47 51 45K
ThLES HERE/EiR 250V / 4A 250V / 4A 60V / 4A 250V / 4A
HEMR | KE TR
®e 2m 251-B3000-255020 251-B4000-25S020 251-B5000-25S020 251-D4000-255020
b PVC 5m 251-B3000-25S050 251-B4000-25S050 251-B5000-25S050 251-D4000-25S050
/ 10m 251-B3000-255100 251-B4000-255100 251-B5000-255100 251-D4000-255100
[ 2m 251-B3000-055020 251-B4000-055020 251-B5000-055020 251-D4000-055020
& PUR 5m 251-B3000-05S050 251-B4000-05S050 251-B5000-05S050 251-D4000-05S050
© 10m 251-B3000-055100 251-B4000-05S100 251-B5000-05S100 251-D4000-055100
® 2m 252-B3000-25S020 252-B4000-25S020 252-B5000-255020 252-D4000-255020
e PVC 5m 252-B3000-25S050 252-B4000-25S050 252-B5000-25S050 252-D4000-25S050
10m 252-B3000-255100 252-B4000-255100 252-B5000-255100 252-D4000-255100
A 2m 252-B3000-055020 252-B4000-055020 252-B5000-05S020 252-D4000-055020
) ® PUR 5m 252-B3000-05S050 252-B4000-05S050 252-B5000-05S050 252-D4000-05S050
10m 252-B3000-05S100 252-B4000-055100 252-B5000-055100 252-D4000-055100
@ 2m 253-B3000-255020 253-B4000-25S020 253-B5000-255020 253-D4000-255020
b PVC 5m 253-B3000-25S050 253-B4000-25S050 253-B5000-25S050 253-D4000-25S050
/ 10m 253-B3000-255100 253-B4000-255100 253-B5000-255100 253-D4000-255100
g 2m 253-B3000-05S020 253-B4000-055020 253-B5000-05S020 253-D4000-055020
. (4 @ PUR 5m 253-B3000-05S050 253-B4000-05S050 253-B5000-05S050 253-D4000-055050
10m 253-B3000-05S100 253-B4000-055100 253-B5000-05S5100 253-D4000-055100
o om 254-B3000-255020 254-B4000-255020 254-B5000-255020 254-D4000-25S020
e PVC 5m 254-B3000-255050 254-B4000-25S050 254-B5000-25S050 254-D4000-25S050
( 10m 254-B3000-255100 254-B4000-255100 254-B5000-255100 254-D4000-255100
2m 254-B3000-05S020 254-B4000-055020 254-B5000-05S020 254-D4000-055020
. G ® PUR 5m 254-B3000-05S050 254-B4000-05S050 254-B5000-05S050 254-D4000-055050
10m 254-B3000-05S100 254-B4000-05S100 254-B5000-05S100 254-D4000-055100
] B B B D
s & 3 41 57 435
Pk FEBE/ B 250V / 4A 250V / 4A 60V / 4A 250V / 4A
BEMER | KE TR
@ 0.6m 256-B3000-25SL60 256-B4000-25SL60 256-B5000-25SL60 256-D4000-25SL60
PVC 1.5m 256-B3000-255015 256-B4000-25S015 256-B5000-25S015 256-D4000-25S015
V i 256-B3000-25S030 256-B4000-25S030 256-B5000-25S030 256-D4000-25S030
Y a 0.6m 256-B3000-05SL60 256-B4000-05SL60 256-B5000-05SL60 256-D4000-05SL60
. " PUR 15m 256-B3000-055015 256-B4000-055015 256-B5000-05S015 256-D4000-05S015
© 3m 256-B3000-05S030 256-B4000-05S030 256-B5000-05S030 256-D4000-055030
0.6m 257-B3000-25SL60 257-B4000-25SL60 257-B5000-25SL60 257-D4000-25SL60
PVC 1 5m 257-B3000-25S015 257-B4000-25S015 257-B5000-25S015 257-D4000-25S015
f 3m 257-B3000-25S030 257-B4000-25S030 257-B5000-25S030 257-D4000-25S030
) S 0.6m 257-B3000-05SL60 257-B4000-05SL60 257-B5000-05SL60 257-D4000-05SL60
s s PUR 1.5m 257-B3000-055015 257-B4000-05S015 257-B5000-05S015 257-D4000-05S015
® 3m 257-B3000-055030 257-B4000-055030 257-B5000-05S030 257-D4000-055030
0.6m 260-B3000-25SL60 260-B4000-25SL60 260-B5000-25SL60 260-D4000-25SL60
PVC 1.5m 260-B3000-25S015 260-B4000-25S015 260-B5000-25S015 260-D4000-25S015
&l 3m 260-B3000-25S030 260-B4000-25S030 260-B5000-25S030 260-D4000-25S030
‘P ‘P 0.6m 260-B3000-05SL60 260-B4000-05SL60 260-B5000-05SL60 260-D4000-05SL60
& o PUR 1.5m 260-B3000-055015 260-B4000-055015 260-B5000-05S015 260-D4000-05S015
© 3m 260-B3000-055030 260-B4000-05S030 260-B5000-05S030 260-D4000-055030
0.6m 263-B3000-25SL60 263-B4000-25SL60 263-B5000-25SL60 263-D4000-25SL60
PVC 1.5m 263-B3000-255015 263-B4000-25S015 263-B5000-25S015 263-D4000-25S015
f 3m 263-B3000-25S030 263-B4000-25S030 263-B5000-25S030 263-D4000-25S030
‘P ® 0.6m 263-B3000-05SL60 263-B4000-05SL60 263-B5000-05SL60 263-D4000-05SL60
s " PUR 1.5m 263-B3000-055015 263-B4000-05S015 263-B5000-05S015 263-D4000-05S015
© 3m 263-B3000-055030 263-B4000-055030 263-B5000-05S030 263-D4000-05S030

% 5 A A A A A
o i 3t 4 5t 8ith 123
ThLES BEHE/ B 250V / 4A 250V / 4A 60V / 4A 30V /2A 30V /1.5A
MEMR | KE TSR
@, 2m | 201-A3000-20S020 | 201-A4000-20S020 | 201-A5000-20S020 | 201-A8000-20S020 | 201-AC000-20S020
PVC 5m | 201-A3000-20S050 | 201-A4000-20S050 | 201-A5000-20S050 | 201-A8000-20S050 | 201-AC000-20S050
10m | 201-A3000-20S100 | 201-A4000-20S100 | 201-A5000-20S100 | 201-A8000-20S100 | 201-AC000-20S100
® 2m | 201-A3000-00S020 | 201-A4000-00S020 | 201-A5000-00S020 | 201-A8000-00S020 | 201-AC000-00S020
& PUR | 5m | 201-A3000-00S050 | 201-A4000-00S050 | 201-A5000-00S050 | 201-A8000-00S050 | 201-AC000-00S050
10m | 201-A3000-00S100 | 201-A4000-00S100 | 201-A5000-00S100 | 201-A8000-00S100 | 201-AC000-00S100
@ 2m | 202-A3000-20S020 | 202-A4000-20S020 | 202-A5000-20S020 | 202-A8000-20S020 | 202-AC000-20S020
PVC 5m | 202-A3000-20S050 | 202-A4000-20S050 | 202-A5000-20S050 | 202-A8000-20S050 | 202-AC000-20S050
/ 10m | 202-A3000-20S100 | 202-A4000-20S100 | 202-A5000-20S100 | 202-A8000-20S100 | 202-AC000-20S100
A 2m | 202-A3000-00S020 | 202-A4000-00S020 | 202-A5000-00S020 | 202-A8000-00S020 | 202-AC000-00S020
a PUR 5m | 202-A3000-00S050 | 202-A4000-00S050 | 202-A5000-00S050 | 202-A8000-00S050 | 202-AC000-00S050
10m | 202-A3000-00S100 | 202-A4000-00S100 | 202-A5000-00S100 | 202-A8000-00S100 | 202-AC000-00S100
@ 2m | 203-A3000-20S020 | 203-A4000-20S020 | 203-A5000-20S020 | 203-A8000-20S020 | 203-AC000-20S020
PVC 5m | 203-A3000-20S050 | 203-A4000-20S050 | 203-A5000-20S050 | 203-A8000-20S050 | 203-AC000-20S050
( 10m | 203-A3000-20S100 | 203-A4000-20S100 | 203-A5000-20S100 | 203-A8000-20S100 | 203-AC000-20S100
F 2m | 203-A3000-00S020 | 203-A4000-00S020 | 203-A5000-00S020 | 203-A8000-00S020 | 203-AC000-00S020
o (4 PUR | 5m | 203-A3000-00S050 | 203-A4000-00S050 | 203-A5000-00S050 | 203-A8000-00S050 | 203-AC000-00S050
10m | 203-A3000-00S100 | 203-A4000-00S100 | 203-A5000-00S100 | 203-A8000-00S100 | 203-AC000-00S100
2m | 204-A3000-20S020 | 204-A4000-20S020 | 204-A5000-20S020 | 204-A8000-20S020 | 204-AC000-20S020
08 PVC 5m | 204-A3000-20S050 | 204-A4000-20S050 | 204-A5000-20S050 | 204-A8000-20S050 | 204-AC000-20S050
10m | 204-A3000-20S100 | 204-A4000-20S100 | 204-A5000-20S100 | 204-A8000-20S100 | 204-AC000-20S100
2m | 204-A3000-00S020 | 204-A4000-00S020 | 204-A5000-00S020 | 204-A8000-00S020 | 204-AC000-00S020
i 6 PUR | 5m | 204-A3000-00S050 | 204-A4000-00S050 | 204-A5000-00S050 | 204-A8000-00S050 | 204-AC000-00S050
10m | 204-A3000-00S100 | 204-A4000-00S100 | 204-A5000-00S100 | 204-A8000-00S100 | 204-AC000-00S100
o 15 A A A A A
i B 3 43 515 8tk 125
P BiERBE/HBHR 250V / 4A 250V /| 4A 60V / 4A 30V /2A 30V /1.5A
HEMR | KB TR
@ 0.6m | 206-A3000-20SL60 | 206-A4000-20SL60 | 206-A5000-20SL60 | 206-A8000-20SL60 | 206-AC000-20SL60
PVC | 1.5m | 206-A3000-20S015 | 206-A4000-20S015 | 206-A5000-20S015 | 206-A8000-20S015 | 206-AC000-20S015
3m | 206-A3000-20S030 | 206-A4000-20S030 | 206-A5000-20S030 | 206-A8000-20S030 | 206-AC000-20S030
“f 0.6m | 206-A3000-00SL60 | 206-A4000-00SL60 | 206-A5000-00SL60 | 206-A8000-00SL60 | 206-AC000-00SL60
Al . a PUR | 1.5m | 206-A3000-00S015 | 206-A4000-00S015 | 206-A5000-00S015 | 206-A8000-00S015 | 206-AC000-00S015
3m | 206-A3000-00S030 | 206-A4000-00S030 | 206-A5000-00S030 | 206-A8000-00S030 | 206-AC000-00S030
®. 0.6m | 209-A3000-20SL60 | 209-A4000-20SL60 | 209-A5000-20SL60 | 209-A8000-20SL60 | 209-AC000-20SL60
PVC | 1.5m | 209-A3000-20S015 | 209-A4000-20S015 | 209-A5000-20S015 | 209-A8000-20S015 | 209-AC000-20S015
3m | 209-A3000-20S030 | 209-A4000-20S030 | 209-A5000-20S030 | 209-A8000-20S030 | 209-AC000-20S030
. w 0.6m | 209-A3000-00SL60 | 209-A4000-00SL60 | 209-A5000-00SL60 | 209-A8000-00SL60 | 209-AC000-00SL60
(4 L PUR | 1.5m | 209-A3000-00S015 | 209-A4000-00S015 | 209-A5000-00S015 | 209-A8000-00S015 | 209-AC000-00S015
4 # 3m | 209-A3000-00S030 | 209-A4000-00S030 | 209-A5000-00S030 | 209-A8000-00S030 | 209-AC000-00S030
o 0.6m | 212-A3000-20SL60 | 212-A4000-20SL60 | 212-A5000-20SL60 | 212-A8000-20SL60 | 212-AC000-20SL60
PVC | 1.5m | 212-A3000-20S015 | 212-A4000-20S015 | 212-A5000-20S015 | 212-A8000-20S015 | 212-AC000-20S015
f 3m | 212-A3000-20S030 | 212-A4000-20S030 | 212-A5000-20S030 | 212-A8000-20S030 | 212-AC000-20S030
) 0.6m | 212-A3000-00SL60 | 212-A4000-00SL60 | 212-A5000-00SL60 | 212-A8000-00SL60 | 212-AC000-00SL60
& PUR | 1.5m | 212-A3000-00S015 | 212-A4000-00S015 | 212-A5000-00S015 | 212-A8000-00S015 | 212-AC000-00S015
* 4 3m | 212-A3000-00S030 | 212-A4000-00S030 | 212-A5000-00S030 | 212-A8000-00S030 | 212-AC000-00S030
@ 0.6m | 214-A3000-20SL60 | 214-A4000-20SL60 | 214-A5000-20SL60 | 214-A8000-20SL60 | 214-AC000-20SL60
PVC | 1.5m | 214-A3000-20S015 | 214-A4000-20S015 | 214-A5000-20S015 | 214-A8000-20S015 | 214-AC000-20S015
V V 3m | 214-A3000-20S030 | 214-A4000-20S030 | 214-A5000-20S030 | 214-A8000-20S030 | 214-AC000-20S030
Y | 0.6m | 214-A3000-00SL60 | 214-A4000-00SL60 | 214-A5000-00SL60 | 214-A8000-00SL60 | 214-AC000-00SL60
o 4 N PUR | 1.5m | 214-A3000-00S015 | 214-A4000-00S015 | 214-A5000-00S015 | 214-A8000-00S015 | 214-AC000-00S015
3m | 214-A3000-00S030 | 214-A4000-00S030 | 214-A5000-00S030 | 214-A8000-00S030 | 214-AC000-00S030

RRLER/PITRR-M12



PVC

2m

201-B3000-20S020

201-B4000-20S020

201-B5000-20S020

2k 853k / B-Code & D-Code

201-D4000-20S020

201-B3000-20S050

201-B4000-20S050

201-B5000-20S050

201-D4000-20S050

201-B3000-20S100

201-B4000-20S100

201-B5000-20S100

201-D4000-20S100

@ .
Q)

PUR

201-B3000-00S020

201-B4000-00S020

201-B5000-00S020

201-D4000-00S020

201-B3000-00S050

201-B4000-00S050

201-B5000-00S050

201-D4000-00S050

201-B3000-00S100

201-B4000-00S100

201-B5000-00S100

201-D4000-00S100

PVC

202-B3000-20S020

202-B4000-20S020

202-B5000-20S020

202-D4000-20S020

202-B3000-20S050

202-B4000-20S050

202-B5000-20S050

202-D4000-20S050

202-B3000-20S100

202-B4000-20S100

202-B5000-20S100

202-D4000-20S100

202-B3000-00S020

202-B4000-00S020

202-B5000-00S020

202-D4000-00S020

202-B3000-00S050

202-B4000-00S050

202-B5000-00S050

202-D4000-00S050

202-B3000-00S100

202-B4000-00S100

202-B5000-00S100

202-D4000-00S100

PVC

203-B3000-20S020

203-B4000-20S020

203-B5000-20S020

203-D4000-20S020

203-B3000-20S050

203-B4000-20S050

203-B5000-20S050

203-D4000-20S050

203-B3000-20S100

203-B4000-20S100

203-B5000-20S100

203-D4000-20S100

PUR

203-B3000-00S020

203-B4000-00S020

203-B5000-00S020

203-D4000-00S020

203-B3000-00S050

203-B4000-00S050

203-B5000-00S050

203-D4000-00S050

203-B3000-00S100

203-B4000-00S100

203-B5000-00S100

203-D4000-00S100

PVC

204-B3000-20S020

204-B4000-20S020

204-B5000-20S020

204-D4000-20S020

204-B3000-20S050

204-B4000-20S050

204-B5000-20S050

204-D4000-20S050

204-B3000-20S100

204-B4000-20S100

204-B5000-20S100

204-D4000-20S100

204-B3000-00S020

204-B4000-00S020

204-B5000-00S020

204-D4000-00S020

204-B3000-00S050

204-B4000-00S050

204-B5000-00S050

204-D4000-00S050

204-B3000-00S100

204-B4000-00S100

204-B5000-00S100

204-D4000-00S100

2 N B 3%k / B-Code &

-Code

w2k Y B = @i%L /A-Code

HEY BEE P EREEESETAZRMITWIMET, RHBEBAMORIES. 1~ /KA
A-Code i&it, FJEIESAMMEREE-MITRME, KEEL T IELEAMER R KRR R HE
R. BT 3MEBMEY, REESINEREKBETNIHRNZEEE. 2B KRBT

BB LA BRI NERERR, RAEE

\

PVC

15cm

HIME P FERE A EEEAEERRG R

222-A5530-20SL15

PUR
és S

15cm

222-A5530-00SL15

RT.I- (BfL: mm)

PVC

0.6m

206-B3000-20SL60

206-B4000-20SL60

206-B5000-20SL60

206-D4000-20SL60

1.5m

206-B3000-20S015

206-B4000-20S015

206-B5000-20S015

206-D4000-20S015

3m

206-B3000-20S030

206-B4000-20S030

206-B5000-20S030

206-D4000-20S030

PUR

0.6m

206-B3000-00SL60

206-B4000-00SL60

206-B5000-00SL60

206-D4000-00SL60

1.5m

206-B3000-00S015

206-B4000-00S015

206-B5000-00S015

206-D4000-00S015

3m

206-B3000-00S030

206-B4000-00S030

206-B5000-00S030

206-D4000-00S030

PVC

0.6m

209-B3000-20SL60

209-B4000-20SL60

209-B5000-20SL60

209-D4000-20SL60

1.5m

209-B3000-20S015

209-B4000-20S015

209-B5000-20S015

209-D4000-20S015

3m

209-B3000-20S030

209-B4000-20S030

209-B5000-20S030

209-D4000-20S030

PUR

0.6m

209-B3000-00SL60

209-B4000-00SL60

209-B5000-00SL60

209-D4000-00SL60

1.5m

209-B3000-00S015

209-B4000-00S015

209-B5000-00S015

209-D4000-00S015

3m

209-B3000-00S030

209-B4000-00S030

209-B5000-00S030

209-D4000-00S030

PVC

0.6m

212-B3000-20SL60

212-B4000-20SL60

212-B5000-20SL60

212-D4000-20SL60

1.5m

212-B3000-20S015

212-B4000-20S015

212-B5000-20S015

212-D4000-20S015

3m

212-B3000-20S030

212-B4000-20S030

212-B5000-20S030

212-D4000-20S030

PUR

0.6m

212-B3000-00SL60

212-B4000-00SL60

212-B5000-00SL60

212-D4000-00SL60

1.5m

212-B3000-00S015

212-B4000-00S015

212-B5000-00S015

212-D4000-00S015

3m

212-B3000-00S030

212-B4000-00S030

212-B5000-00S030

212-D4000-00S030

PVC

0.6m

214-B3000-20SL60

214-B4000-20SL60

214-B5000-20SL60

214-D4000-20SL60

1.5m

214-B3000-20S015

214-B4000-20S015

214-B5000-20S015

214-D4000-20S015

3m

214-B3000-20S030

214-B4000-20S030

214-B5000-20S030

214-D4000-20S030

ug'@u,
« 7 a ’
§t FL

o Lo

§t 7L

R A

P

7L 4t

(L} A

§t 7L

PUR

0.6m

214-B3000-00SL60

214-B4000-00SL60

214-B5000-00SL60

214-D4000-00SL60

1.5m

214-B3000-00S015

214-B4000-00S015

214-B5000-00S015

214-D4000-00S015

3m

214-B3000-00S030

214-B4000-00S030

214-B5000-00S030

214-D4000-00S030

46.00 L 4620

0

o| T i

3| £ ©
2 s

0

s

=)

£t 7l

Conn.1 Conn.3 Conn.2
N e — e o1
/ [— N\

Y A 1 B o2
J [— -
~N B — Ee |3
J [E— o
J [— o
N RE — e Yk
J [E— o

14 Dinkle =

== Dinkle 15




Il_a\

rr/ R E - M12

Hi¥ 7@ T R R[S 00ERE, RBE ZHARERE, UBeARFX, MR
l_‘.\ 7HH*ﬁE,‘J#ﬁz£o

951-04P

951-06P

951-08P

BiBE

PNP

# LED

24V [ 12A

2A

™ M23 flik N

4A

952-04P

952-06P

952-08P

WidiE

PNP

i LED

24V [ 12A

2A

4A

953-04P-0XXX

953-06P-0XXX

953-08P-0XXX

PNP

W LED

24V [ 12A

954-04P-0XXX

954-06P-0XXX

954-08P-0XXX

WidiE

PNP

# LED

24V [ 12A

2A

4A

R 3 XXX AL KE
- & KE 1~99cm, HLXX. Z5: 60cm=L60
- & KB 1~99m, A XXX, Z4): 2m=020, 5m=050, 10m=100

cus D) (s6hr)
P 68 Salt
LISTED E

E 1 M12 A-Code BAT{EBE 30 VDC
[5F a8 2711 1P68 HEBE 24 VDC
BERE -25°C ~80°C BEERR 12A
HXAE 0.4 N'm BREEHRARHES 2A
iR PBT RLERSM PUR, BLACK
PSR, FFE& UL 94 VO B4 UL R UL 20549
iR PAB6 i FT-2
527k ) A SR ST UL 2238
EHEms NBR

EREMENESMIMSH, LFARDEEFERHECERNEHRET. MREERRPENEWITLNER, WLAERRIPER >IP54 MPFIPREHE
. TEEERLL, BYEPCB EMERAIRMN.

16 Dinkle =

== Dinkle 17



SHE

53

N
J

AN

24V

8/4

714

6/4

5/4

4/4

3/4

2/4

1/4

GND

:

mm)

e
VA

R~TE]

Nk=

L
m >
o A?__. °
g ©
Oy ©
<
S
@
o g s ° 2 2 ,
PSS 0 x
= < 17%‘,“74L|A % 1727345 o
o TANMO ST W0
> -No T o 0 b3 < =3 ~
= o S & s
= < 3
K o
~
o 2 N
% I\ x < °© © ) ]
< Phax b o
12%3745 o Y 1727345 5
N ] ~N®< o] -
3 g 3 g
s =
o ~
Oppor x
X
—s
L8 | & . S e |
< PR o ~
— N 0] o DWN a © = — ] <
caomwwn] O ¥ Y = ~
S o~ N4 =< N —|No|<s|w] o ow
= 0 <
- AOI o 712345 n/_v |
© a .. & 5 s X
< < ~
0 © <+ o
% =Y 2 o 5 ° — o
< P 7 m ~ 4m)
112”334455 W wn.m W o m . 1 wﬁ
o o # g 7 7 B
S = N7 g S han K Y <
o © © ~NOM < W0 - P
= O & g o o
) < = s )
=
13 |¢ N -
< P e [N
|V 0] o < 5 ~ ]
ﬁ mM < N | N| M| |0 W
s © NS W0 -
8, & E g
< X
=
ENE 5 .
< Phin X 7 [
]
bt el 8 0
4123452y < % Nev|o| g
3 g
= < NS W0 -
o 5 = o
22 > s
= < K
8 p I
2 —e
< Ph< N
— | N |0 W N m m |
o 0g 5 Ak o
B W o —ANm W0 -
a & ® o
22 ] s
< < X
. = o
Lg ¢ —
< Py A = ]
|l o] g - I b
NMEERRETI < Phax 1727345 o
= - —AN®M W0 -
= a o o~
Z o =
]
o)
©
: E
[ BB FHIC ] p
= = =
< = ﬁ
o N im o e
3 O ] = 8 &
B@A = =3
L b
§'96 g'Lok
g'iechk 59zl
Sovi ' G161
o
O
«
E:D:D:D:Hl | E=D:D:D:D= I
— — — — e =" =" ="
[P [ Tl |
B © < ~
=) S ] 4m) @A < < < m
3 - 0 = 5 DD -©= -
) ks B
=9 i £ ° N =A== e &
~ 0 © -
I 1 Bl
G'96 g'LolL
siel szl

g6l




d\
\N

AN

X5

s

EEEFZ AR

201-A5000-20S020

201-A5000-20S050

203-A5000-20S020

203-A5000-20S050

M12
smmt “5) 201-A5000-20S100 203-A5000-20S100
BihiES 201-A5000-00S020 203-A5000-00S020
201-A5000-00S050 203-A5000-00S050
¥ 201-A5000-00S100 i 203-A5000-00S100
206-A5000-20SL60 209-A5000-20SL60
206-A5000-20S015 209-A5000-20S015
& 206-A5000-20S030 209-A5000-20S030
) ) a 206-A5000-00SL60 209-A5000-00SL60
206-A5000-00S015 209-A5000-00S015
ﬁij%%t & i 206-A5000-00S030 209-A5000-00S030
S5
PUSUEE ST 212-A5000-20SL60 214-A5000-20SL60
212-A5000-20S015 214-A5000-20S015
‘{T) o 212-A5000-20S030 214-A5000-20S030
e 212-A5000-00SL60 214-A5000-00SL60
212-A5000-00S015 214-A5000-00S015
s 7 4 7
212-A5000-00S030 214-A5000-00S030
222-A5530-20SL15
M12
kR B
Y B =@k
222-A5530-00SL15
£
285-A5A1
M12
HifAER
285-A5AD
¢
M12 '
R IRIPE 200-A002
s
M23
AR IERER 402-S0124
7
o] TM-R100 TM-R200

Il_a\

B /AT

.E’E_

BT M8 A iEE=5 k18 IEC 61076-2-104 &1+, EESAEEMSREM. BRI RAF

BRENRED, ERRNE

R BHE.

SEIRREEZEINIER, EILESIRSGRER. MiXMEEE

mMEBORE 100 B60VAC / 4A (< 4 Pin)
iF a4 P68 ek / Bk 30VAC / 3A (5 Pin)

-40°C ~80°C (ML ANEERE 30VAC / 1.5A (6 & 8 Pi
Frp— (RENEERE) ( in)

-25°C ~ 80°C(Hk AR L) Ll U ET N /v 100MQ
BRAE 0.2N'm TEERESS I
Sk ZEER MEe/ & IEC 61076-2-104: Detail specification for M8

connectors with screw-locking
Si#ik astxE PUR / PUR
BB NBR SRR IEC 60512: Electromechanical components for electronic
equipment; basic testing procedure and measuring methods
RYEY HFESHER
IEC-60529: Degree of protection provided

ks PUR (UL AWM 20549), PVC (UL AWM 2464) by enclosures (IP Code)
FRIRZ 4R, FF& UL 94 HB B UL 2238
BIREMENESFNHSE, LAREERRIERGECERNEHREF. WREESRAVERBWSENRR, WL RRIPEFR >IP54 HFFFEFEE
. THEBEERL, Bz PCB HMERIIIE.

20 Dinkle =

== Dinkle 21



wmek BB EL /| A-Code & B-Code

@

USTED

PVC

2m

301-A3000-10S020

301-A4000-10S020

301-A6000-10S020

301-A8000-10S020

301-B5000-10S020

301-A3000-10S050

301-A4000-10S050

301-A6000-10S050

301-A8000-10S050

301-B5000-10S050

301-A3000-10S100

301-A4000-10S100

301-A6000-10S100

301-A8000-10S100

301-B5000-10S100

301-A3000-00S020

301-A4000-00S020

301-A6000-00S020

301-A8000-00S020

301-B5000-00S020

301-A3000-00S050

301-A4000-00S050

301-A6000-00S050

301-A8000-00S050

301-B5000-00S050

301-A3000-00S100

301-A4000-00S100

301-A6000-00S100

301-A8000-00S100

301-B5000-00S100

PVC

302-A3000-10S020

302-A4000-10S020

302-A6000-10S020

302-A8000-10S020

302-B5000-10S020

302-A3000-10S050

302-A4000-10S050

302-A6000-10S050

302-A8000-10S050

302-B5000-10S050

302-A3000-10S100

302-A4000-10S100

302-A6000-10S100

302-A8000-10S100

302-B5000-10S100

302-A3000-00S020

302-A4000-00S020

302-A6000-00S020

302-A8000-00S020

302-B5000-00S020

302-A3000-00S050

302-A4000-00S050

302-A6000-00S050

302-A8000-00S050

302-B5000-00S050

302-A3000-00S100

302-A4000-00S100

302-A6000-00S100

302-A8000-00S100

302-B5000-00S100

PVC

303-A3000-10S020

303-A4000-10S020

303-A6000-10S020

303-A8000-10S020

303-B5000-10S020

303-A3000-10S050

303-A4000-10S050

303-A6000-10S050

303-A8000-10S050

303-B5000-10S050

303-A3000-10S100

303-A4000-10S100

303-A6000-10S100

303-A8000-10S100

303-B5000-10S100

303-A3000-00S020

303-A4000-00S020

303-A6000-00S020

303-A8000-00S020

303-B5000-00S020

303-A3000-00S050

303-A4000-00S050

303-A6000-00S050

303-A8000-00S050

303-B5000-00S050

303-A3000-00S100

303-A4000-00S100

303-A6000-00S100

303-A8000-00S100

303-B5000-00S100

PVC

304-A3000-10S020

304-A4000-10S020

304-A6000-10S020

304-A8000-10S020

304-B5000-10S020

304-A3000-10S050

304-A4000-10S050

304-A6000-10S050

304-A8000-10S050

304-B5000-10S050

304-A3000-10S100

304-A4000-10S100

304-A6000-10S100

304-A8000-10S100

304-B5000-10S100

PUR

304-A3000-00S020

304-A4000-00S020

304-A6000-00S020

304-A8000-00S020

304-B5000-00S020

304-A3000-00S050

304-A4000-00S050

304-A6000-00S050

304-A8000-00S050

304-B5000-00S050

304-A3000-00S100

304-A4000-00S100

304-A6000-00S100

304-A8000-00S100

304-B5000-00S100

A MBIz / A-Code & B-Code

=

@ 0.6m | 306-A3000-10SL60 | 306-A4000-10SL60 | 306-A6000-10SL60 | 306-A8000-10SL60 | 306-B5000-10SL60
o PVC 1.5m | 306-A3000-10S015 | 306-A4000-10S015 | 306-A6000-10S015 | 306-A8000-10S015 | 306-B5000-10S015
3m | 306-A3000-10S030 | 306-A4000-10S030 | 306-A6000-10S030 | 306-A8000-10S030 | 306-B5000-10S030

% / 0.6m | 306-A3000-00SL60 | 306-A4000-00SL60 | 306-A6000-00SL60 | 306-A8000-00SL60 | 306-B5000-00SL60

o 1 PUR 1.5m | 306-A3000-00S015 | 306-A4000-00S015 | 306-A6000-00S015 | 306-A8000-00S015 | 306-B5000-00S015
3m | 306-A3000-00S030 | 306-A4000-00S030 | 306-A6000-00S030 | 306-A8000-00S030 | 306-B5000-00S030

@ 0.6m | 309-A3000-10SL60 | 309-A4000-10SL60 | 309-A6000-10SL60 | 309-A8000-10SL60 | 309-B5000-10SL60
o PVC 1.5m | 309-A3000-10S015 | 309-A4000-10S015 | 309-A6000-10S015 | 309-A8000-10S015 | 309-B5000-10S015
3m | 309-A3000-10S030 | 309-A4000-10S030 | 309-A6000-10S030 | 309-A8000-10S030 | 309-B5000-10S030

<9 < 0.6m | 309-A3000-00SL60 | 309-A4000-00SL60 | 309-A6000-00SL60 | 309-A8000-00SL60 | 309-B5000-00SL60

ﬁ; v : PUR 1.5m | 309-A3000-00S015 | 309-A4000-00S015 | 309-A6000-00S015 | 309-A8000-00S015 | 309-B5000-00S015
3m | 309-A3000-00S030 | 309-A4000-00S030 | 309-A6000-00S030 | 309-A8000-00S030 | 309-B5000-00S030

¥ 0.6m | 312-A3000-10SL60 | 312-A4000-10SL60 | 312-A6000-10SL60 | 312-A8000-10SL60 | 312-B5000-10SL60
o PVC 1.5m | 312-A3000-10S015 | 312-A4000-10S015 | 312-A6000-10S015 | 312-A8000-10S015 | 312-B5000-10S015
3m | 312-A3000-10S030 | 312-A4000-10S030 | 312-A6000-10S030 | 312-A8000-10S030 | 312-B5000-10S030

X / 0.6m | 312-A3000-00SL60 | 312-A4000-00SL60 | 312-A6000-00SL60 | 312-A8000-00SL60 | 312-B5000-00SL60

1 s s PUR 1.5m | 312-A3000-00S015 | 312-A4000-00S015 | 312-A6000-00S015 | 312-A8000-00S015 | 312-B5000-00S015
3m | 312-A3000-00S030 | 312-A4000-00S030 | 312-A6000-00S030 | 312-A8000-00S030 | 312-B5000-00S030

0.6m | 314-A3000-10SL60 | 314-A4000-10SL60 | 314-A6000-10SL60 | 314-A8000-10SL60 | 314-B5000-10SL60

PVC 1.5m | 314-A3000-10S015 | 314-A4000-10S015 | 314-A6000-10S015 | 314-A8000-10S015 | 314-B5000-10S015

3m | 314-A3000-10S030 | 314-A4000-10S030 | 314-A6000-10S030 | 314-A8000-10S030 | 314-B5000-10S030

0.6m | 314-A3000-00SL60 | 314-A4000-00SL60 | 314-A6000-00SL60 | 314-A8000-00SL60 | 314-B5000-00SL60

# EN PUR 1.5m | 314-A3000-00S015 | 314-A4000-00S015 | 314-A6000-00S015 | 314-A8000-00S015 | 314-B5000-00S015
3m | 314-A3000-00S030 | 314-A4000-00S030 | 314-A6000-00S030 | 314-A8000-00S030 | 314-B5000-00S030

i E- M12

BT;E4t 3t TAliB R ANz 24 (CC-Link, DeviceNet/ CANopen, PROFIBUS DP) FALLAM
(PROFINET, Ethernet CAT5) thERATHEEWEI M12 B iEESS, kA RIFAIFHCHN
EIIR, IP68 BHFEREE ST EMI. WHEMR. IREIFFETIL,

PROFINET CAT5 Ethernet CAT5 Ethernet CAT5 CC-Link DeviceNet™ PROFIBUS DP
(100 Mbps) (100 Mbps) (100 Mbps) (10 Mbps) CANopen® (12 Mbps)
D D A A A B
4 4 8 4 5 5
PVC PUR PUR PVC PUR PUR
7 & KiEE KiEE a & EC) ]
6.5+0.2mm 6.0 +0.25mm 6.0 +0.25mm 7.0+0.2mm 6.6 +0.25mm 7.8+0.2mm
-40 °C ~ +80 °C

AL-Foil, tin-plated
copper braided shield

AL-mylar, tinned copper braided shield

AL-Foil, tin-plated
copper braided shield

AL-mylar, tinned copper braided shield

Stranded tinned copper

Stranded bare copper

Stranded tinned copper

22 AWG 26 AWG 26 AWG 320 AWG 2422 AWG+2*24 AWG 22 AWG
B/iE, 35, B/, & 24AWG: A, #5
" , I, AU, 3
Shib iyt L L =T Y e B &R 22AWG: 4, B et
24AWG:1.9 + 0.05 mm
1.5+£0.1 mm 0.9 £0.05 mm 0.92 + 0.05 mm 2.2+0.1 mm 22AWGA.4 £ 0.05 mm 2.7+0.1 mm
24AWG:< 91.8 Q / km
g . 59.4 Q / ki
59.4 Q / km (@20 °C) <148 Q/km <148 Q/km S b 22AWG:< 57.4 Q / km "
IEC 61156-6 ISO / IEC 11801 ISO / IEC 11801 IEC 61158-2 UL 1581 IEC 61158-2
1SO / IEC 11801 UL 1581 UL 1581 R UL 758 UL 758
UL 758 . _ R
21694 20963 20963 2464 21329 20233
IEC 603321, FT2 IEC 60332-1 IEC 60332-1, FT2 VW-1

22 Dinkle =

== Dinkle 23



=-M12

Tl i&q

FERHER R PR s BUERE/RR ekt R 3 3 TR
2m 251-D4000-2PS020
¢ PROFINET CAT5
% (100 Mbps) D 4 250V /4A PVC 5m 251-D4000-2PS050
s 10m 251-D4000-2PS100
2m 251-D4000-0ES020
Ethernet CAT5
. ’ (100 Mbps) ) 4 30V /4A PUR 5m 251-D4000-0ES050
el 10m 251-D4000-0ES100
2m 251-A8000-0ES020
Ethernet CAT5
. ' (100 Mbps) A 8 60V / 2A PUR 5m 251-A8000-0ES050
s 10m 251-A8000-0ES100
2m 252-D4000-2PS020
PROFINET CAT5 D 4 250V / 4A PVC 5m 252-D4000-2PS050
a (100 Mbps)
) 10m 252-D4000-2PS100
2m 252-D4000-0ES020
Ethernet CATS
5 252-D4000-0ES050
‘¢ (100 Mbps) D 4 30V /4A PUR m
) 10m 252-D4000-0ES100
2m 252-A8000-0ES020
Ethernet CATS 5m 252-A8000-0ES050
‘¢ (100 Mbps) A 8 60V / 2A PUR
7 10m 252-A8000-0ES100
2m 253-D4000-2PS020
« PROFINET CATS D 4 250V / 4A PVC 5m 253-D4000-2PS050
. (100 Mbps)
s (4 10m 253-D4000-2PS100
2m 253-D4000-0ES020
Ethernet CAT5
¢ (100 Mbps) D 4 30V /4A PUR 5m 253-D4000-0ES050
7
s @ 10m 253-D4000-0ES100
2m 253-A8000-0ES020
Ethernet CATS
¢ (100 Mbps) A 8 60V / 2A PUR 5m 253-A8000-0ES050
i @ 10m 253-A8000-0ES100
2m 254-D4000-2PS020
PROFINET CAT5
P (100 Mbps) D 4 250V / 4A PVC 5m 254-D4000-2PS050
8 10m 254-D4000-2PS100
2m 254-D4000-0ES020
Ethernet CAT5
y‘ (100 Mbps) D 4 30V/4A PUR 5m 254-D4000-0ES050
7 10m 254-D4000-0ES100
2m 254-A8000-0ES020
Ethernet CATS
ﬁ (100 Mbps) A 8 60V / 2A PUR 5m 254-A8000-0ES050
7 10m 254-A8000-0ES100

a5 251 % B it BERE/HBR REEM R KE TSR
0.6m 256-D4000-2PSL60
’ A ’ PROFINET CATS D 4 250V / 4A PVC 1.5m 256-D4000-2PS015
® (100 Mbps)
s 7 O] 3m 256-D4000-2PS030
0.6m 256-D4000-0ESL60
Ethernet CAT5S
. ﬂ’ (100 Mbps) D 4 30V /4A PUR 1.5m 256-D4000-0ES015
s 7 © 3m 256-D4000-0ES030
0.6m 256-A8000-0ESL60
Ethernet CAT5
. ﬂ¢ (100 Mbps) A 60V / 2A PUR 1.5m 256-A8000-0ES015
o 1 O] 3m 256-A8000-0ES030
0.6m 257-D4000-2PSL60
' ¢ PROFINET CATS D 4 250V / 4A PVC 1.5m 257-D4000-2PS015
% ) (100 Mbps)
s 4 © 3m 257-D4000-2PS030
0.6m 257-D4000-0ESL60
Ethernet CAT5
15 257-D4000-0ES015
. ’; ¢ (100 Mope) D 4 30V /4A PUR m
4 4 ® 3m 257-D4000-0ES030
0.6m 257-A8000-0ESL60
Ethernet CAT5S
1.5 257-A8000-0ES015
. f; ' (100 Mbps) A 8 60V / 2A PUR m
s s © 3m 257-A8000-0ES030
0.6m 299-D4PML60
’ ’ Ethernet CAT5
1.5 299-D4PMO015
. (100 Mbps) D 4 250V / 4A PVC m
RU5 4 ® 3m 299-D4PM030
’ 0.6m 299-D4EML60
’ Ethernet CATS
1.5 299-D4EMO015
S \ (100 Mbps) D 4 30V / 4A PUR m
RU45 & © 3m 299-D4EM030
’ 0.6m 299-A8EML60
) ’ Ethernet CATS
1. 299-A8EM01
: ® (100 Mbps) A 8 60V / 2A PUR 5m 99-A8EMO015
RJ45 i+ © 3m 299-A8EM030
0.6m 299-D4PFL60
PROFINET CAT5
15 299-D4PF015
‘ ’ \’ (100 Mbps) D 4 250V / 4A PVC m
RU45 i ® 3m 299-D4PF030
0.6m 299-D4EFL60
’ Ethernet CAT5
’ 1.5 299-D4EF015
: L N (100 Mbps) D 4 30V / 4A PUR m
R4 ! © 3m 299-D4EF030
0.6m 299-A8EFL60
’ 4 PROFINET CAT5
1.5 299-A8EF015
& [ (100 Mbps) A 8 60V / 2A PUR m
RU45 ) © 3m 299-A8EF030

=-M12

Tollrieag



kN IN1g 22 [ Bi83ESk / A-Code & B-Code / ikt

2m 251-A4000-2CS020
& CC-Link 250V / 4A PVC 5m 251-A4000-2CS050
Y b) (10 Mbps)
& © 10m 251-A4000-2CS100
/ 2m 251-A5000-0DS020
) ’ DeviceNet™ / CANopen® 60V / 4A PUR 5m 251-A5000-0DS050
Q')
G © 10m 251-A5000-0DS100
/ 2m 251-B5000-0BS020
§ PROFIBUS DP
<) (12 Mbps) 60V /4A PUR 5m 251-B5000-0BS050
& © 10m 251-B5000-0BS100
2m 252-A4000-2CS020
CC-Link
a (10 Mbps) 250V / 4A PVC 5m 252-A4000-2CS050
7 © 10m 252-A4000-2CS100
2m 252-A5000-0DS020
‘ DeviceNet™ / CANopen® 60V /4A PUR 5m 252-A5000-0DS050
7 © 10m 252-A5000-0DS100
2m 252-B5000-0BS020
PROFIBUS DP
a (12 Mbps) 60V /4A PUR 5m 252-B5000-0BS050
7 © 10m 252-B5000-0BS100
2m 253-A4000-2CS020
CC-Link
(; } (10 Mbps) 250V / 4A PVC 5m 253-A4000-2CS050
# © 10m 253-A4000-2CS100
2m 253-A5000-0DS020
. DeviceNet™ / CANopen® 60V / 4A PUR 5m 253-A5000-0DS050
&,
# 5 © 10m 253-A5000-0DS100
2m 253-B5000-0BS020
PROFIBUS DP
> (12 Mbps) 60V /4A PUR 5m 253-B5000-0BS050
v o
© 10m 253-B5000-0BS100
2m 254-A4000-2CS020
CC-Link
5m 254-A4000-2CS050
(10 Mbps) 250V / 4A PVC
10m 254-A4000-2CS100
2m 254-A5000-0DS020
< DeviceNet™ / CANopen® 60V / 4A PUR 5m 254-A5000-0DS050
7l & © 10m 254-A5000-0DS100
2m 254-B5000-0BS020
PROFIBUS DP
5m 254-B5000-0BS050
a (12 Mbps) 60V /4A PUR

10m

254-B5000-0BS100

kN IN1g 22 /| WihESk / A-Code & B-Code / ikt

0.6m 256-A4000-2CSL60
& CC-Link
S 15 256-A4000-2CS015
Y ‘ (10 Mbps) 250V / 4A PVC m
§t EC © 3m 256-A4000-2CS030
0.6m 256-A5000-0DSL60
‘f) ‘ DeviceNet™ / CANopen® 60V / 4A PUR 1.5m 256-A5000-0DS015
4 1 © 3m 256-A5000-0DS030
0.6m 256-B5000-0BSL60
< PROFIBUS DP
V [ 4A PUR . y
. ) ‘ (12 Mbps) 60V / U 1.5m 256-B5000-0BS015
5 E ® 3m 256-B5000-0BS030

;’I ’l PROFINET CAT

%) a (C:oo Mbp(;) ° 250V / 4A PVC 25m 256-D4000-2PP250
o ) ®

‘)’ a ’ Et;‘f(;ge,\tﬂgg)s 60V / 2A PUR 25m 256-D4000-0EP250
& 7L @

< )"f Et?1eorge|\t/u?:g)5 60V / 2A PUR 25m 256-A8000-0EP250
& 7L @

” PROFINET CAT5

o7 &) (100 Mbps) 250V / 4A PVC 25m 257-D4000-2PP250
& & @

r " Ethernet CATS

7 e (100 Mbpe) 60V / 2A PUR 25m 257-D4000-0EP250
& & @

' Ethernet CATS

o 7 e )’ (100 Mbps) 60V / 2A PUR 25m 257-A8000-0EP250
k3 k3 @




M12 BHiFX (PID) #E%4: A-Code & B-Code & D-Code / Rl

B A 285-A3A1 285-A4A1 285-A5A1 285-A8A1
B B 285-B3A1 285-B4A1 285-B5A1
@A D 285-D4A1 -
CC-Link A - 285-A4AC -
DeviceNet CANopen A - - 285-A5AD
Ethernet CAT5 A - - - 285-A8AE
2 ﬂt ﬁ \$ PROFIBUS B - - 285-B5AB
’E W I I PROFINET D - 285-D4AP -
@ Ethernet CAT5 D - 285-D4AE -
B A 286-A3A1 286-A4A1 286-A5A1 286-A8A1
B B 286-B3A1 286-B4A1 286-B5A1
BT M12 AR B R T R T AT A KENIT, BHhohs. FiRa. Rk o ° : :
Eﬁ??ﬁ%%ﬁifﬁﬁﬁ?}ﬁ . > , CC-Link A - 286-A4AC -
f Z. DeviceNet CANopen A - - 286-A5AD
P PID EIREERA, (NEHHFNEERBENEEHET, IHETRNRER, REME . 8 . _ _
. SRR TSE RO R R & SRR ERE, AIEEFHEENE, . : :
. PROFINET D - 286-D4AP -
@ Ethernet CAT5 D - 286-D4AE -

R~TE &fi: mm)

(64.0) (60.40)

BMNERRE 100 250VAC / 4A (< 4 Pin) o

= P67 60VAC / 4A (5 Pi ®
it SR R S
RIERE -40C ~80C 30VAC / 2A (8 Pin) 1
E&EAR Push-in 38 5 Yais MR £/00MQ
BER%E 0.4~0.75mm? /26~18 AWG TRERE 1l
BERHNKER 4~8mm SRER 3

& 7L
S/ KEER AEE/ & IEC 61076-2-101: Detail specification for M12 connectors with
screw-locking
Sk PAG6
T TER IEC 60512: Electromechanical components for electronic
WFitiRE equipment; basic testing procedure and measuring methods

EHE NBR _ _
e P IEC-60529: Degree of protection provided by enclosures (IP Code)
PSR, FFE&UL 94 VO NIERR A UL 2238
FEXFHENBESFNMSE, PIREEERFERTECEMNIEFRET . MREERRUEIBERSENER, WLRERRIPEFR >IP54 HHFEFEER
. REERFELL, B PCB A EMIENME.

28 Dinkle ==

== Dinkle 29




PID tA %3 [RI 2 iE iS4 217 AR

0.14~0.75mm?

11, RIBERNEREFEANORERE, BUAEIRFHKER.

1-2. SHIREEHSKERIANT:
KURKE: ERINE, EREEEZE10mm, FHHHEE
R ES T Rk R
LR 28mm
MR 7-8mm

1-3. DEEALRE: 0.14~0.75mm?

21, fEERIR AR B R SRR FL
BRS/HRELTL: BRTL
Zittk: RERFRIHEL

2-2. fehing B LHET K SRS LIRS RN

3. BEEFRERT, FM17TSHAB/IMFLL0.8N.m HFLE
REEAGHE

4-1. Bin&RFEER 16 SHRARF L 3N-m HiF

4-2. ERATENANARTF SR NERERFLL 0.4N-m $1%%

3 EIRR (Push-in Design, PID) SR, SEIIBGERIELAMATRENE,
AR EIERRA 0.14~0.75mm? f1 5% .

FHRREELWHRANNSLHE, EEEIIMSEMEE.

HRRZ% -M12

HT3E M12 AR B SR R M R RS L AB IR ERAgiZ%k (PROFINET, Ethernet, CC
Link) . RAMEHEK. SMWER PURLSIZ, BELUERERBING, BRI R MBI
R. REFTHIMESAMREAR, YA IP68HFESLR, M PCB. B&EITHIERHERLE
TR B AR R

(96hr |

Salt

0
K3
LR

RoHS I:US o
S IP68
LISTED '

A & B & D-Code S & T-Code A & B & D-Code S & T-Code
RMBERRE 100 250VAC / 4A (< 4 Pin) S: 630VAC / 16A (3 Pin)
Utk 21 P68 B0VAC / 4A (5 Pin) S: 630VAC / 12A (4 Pin)
e E / Bk
BRERE -40C ~80C 30VAC / 2A (8 Pin) T: 63VAC / 12A (4 Pin)
HYE 0.4 N'm 30VAC / 1.5A (12 Pin)
RIEME 0.8 N'm it i F/M00MQ
/ = HEE/ &
B/ ZRAR a |IEC 61076-2-101: Detailspecification for M12 connectors
SEE PA with screw-locking
7~ HERHER _
~RRS 8 iR | N
s L 11 ] IEC 61076-2-111:Circular connectors-Detail specification for
power connectors with M12 screw-locking
BHE NBR
—R&IS: PUR (UL AWM 20549

il ( ) IEC 60512: Electromechanical components for electronic

e TR k= @AER R equipment;basic testing procedure and measuring methods
PVC (UL AWM 1061)
S-Code: mPPE (UL AWM 11029) NERRAE IEC-60529: Degree of protection provided

BFL T-Code: mPPE (UL AWM 11027) by enclosures (IP Code)
PR, FFEUL 94 Vo UL 2238/ UL 2237
EIRFMENESFNESEY, LIREERRIFRGECERIEHREF. WREESRAPERBEWSENER, WLHERRIPEFR >IP54 HFFFEFEE
. TEERELRL, Bk PCB HHERFNG.

30 Dinkle ==

== Dinkle 31



sk | A-Code / FRilig

M16 X 1.5

268-A3000-15S020

268-A4000-15S020

268-A5000-15S020

268-A8000-15S020

268-AC000-15S020

Pg9

268-A3002-15S020

268-A4002-15S020

268-A5002-15S020

268-A8002-15S020

268-AC002-15S020

M16 X 1.5

269-A3000-15S020

269-A4000-15S020

269-A5000-15S020

269-A8000-15S020

269-AC000-15S020

Pg9

269-A3002-15S020

269-A4002-15S020

269-A5002-15S020

269-A8002-15S020

269-AC002-15S020

@s\ M16 X 1.5 270-A3000-15S020 270-A4000-15S020 270-A5000-15S020 270-A8000-15S020 | 270-AC000-15S020
| IO
" Pg9 270-A3002-15S020 270-A4002-15S020 270-A5002-15S020 270-A8002-15S020 | 270-AC002-15S020
a\, - M16 X 1.5 271-A3000-15S020 271-A4000-15S020 271-A5000-15S020 271-A8000-15S020 | 271-AC000-15S020
| W)
Pg9 271-A3002-15S020 271-A4002-15S020 271-A5002-15S020 271-A8002-15S020 | 271-AC002-15S020

#52% | B-Code & D-Code / il

M16 X 1.5 PVC 268-D4000-3PS020 - -
PROFINET CAT5
(100 Mbps)
® Pg9 PVC 268-D4002-3PS020 - -
M16 X 1.5 PUR - 268-D4000-1ES020 -
Ethernet CAT5
(100 Mbps)
© Pg9 PUR - 268-D4002-1ES020 -
M16 X 1.5 PUR - - 268-A8000-1ES020
Ethernet CAT5
(100 Mbps)
® Pg9 PUR - - 268-A8002-1ES020
o M16 X 1.5 PVC 268-D4000-3PS020 - -
AN \/ PROFINET CAT5
\ ) (100 Mbps)
. ® Pg9 PVC 268-D4002-3PS020 - -
v
" M16 X 1.5 PUR - X ) B}
~ & Ethernet CATS 268-D4000-1ES020
)
\ ) (100 Mbps)
. © Pg9 PUR - 268-D4002-1ES020 -
v
I M16 X 1.5 PUR - B , ;
N \ \/ Ethernet CATS 268-A8000-1ES020
\ ) (100 Mbps)
A ® Pg9 PUR - - 268-A8002-1ES020

M16 X 1.5 268-B3000-15S020 268-B4000-15S020 268-B5000-155020 268-D4000-15S020
Pg9 268-B3002-15S020 268-B4002-15S020 268-B5002-15S020 268-D4002-15S020
M16 X 1.5 269-B3000-15S020 269-B4000-15S020 269-B5000-15S020 269-D4000-15S020

269-B3002-15S020

269-B4002-15S020

269-B5002-15S020

269-D4002-15S020

@s\ M16 X 1.5 270-B3000-15S020 270-B4000-15S020 270-B5000-15S020 270-D4000-15S020

\ T
o Pg9 270-B3002-15S020 270-B4002-15S020 270-B5002-15S020 270-D4002-15S020
‘ﬂ\, - M16 X 1.5 271-B3000-15S020 271-B4000-15S020 271-B5000-15S020 271-D4000-15S020
Pg9 271-B3002-15S020 271-B4002-15S020 271-B5002-15S020 271-D4002-15S020

\'\ M16 X 1.5 PVC 270-D4000-3PS020 - -
&N PROFINET CAT5
\ d (100 Mbps)
N © Pg9 PVC 270-D4002-3PS020 - -
- M16 X 1.5 PUR - 270-D4000-1ES020 -
§*\\ Ethernet CAT5
\ d (100 Mbps)
) ® Pg9 PUR - 270-D4002-1ES020 -
S M16 X 1.5 PUR - - 270-A8000-1ES020
§*\\ Ethernet CAT5
\ A (100 Mbps)
) © Pg9 PUR - - 270-A8002-1ES020
y M16 X 1.5 PVC 271-D4000-3PS020 - -
\ PROFINET CAT5
‘ J (100 Mbps)
- S Pg9 PVC 271-D4002-3PS020 - -
: v
Py M16 X 1.5 Eihormet GATS PUR - 271-D4000-1ES020 -
\ J (100 Mbps)
N Pg9 PUR - 271-D4002-1ES020 -
: M16 X 1.5 PUR . ; _AB000-
=) Ethemet CAT5 271-A8000-1ES020
‘ J (100 Mbps)
Pgo PUR - - 271-A8002-1ES020
) ©

32 Dinkle ==

== Dinkle 33




[/ M16 X 1.5 PVC 268-A4000-3CS020 - -
<\ CC-Link
(10 Mbps)
\ ‘ © Pg9 PVC 268-A4002-3CS020 - -
&
«/L M16 X 1.5 . PUR - 268-A5000-1DS020 -
S\ DeviceNet™
‘ A CANopen®
o © Pg9 PUR - 268-A5002-1DS020 -
M16 X 1.5 PUR - - 268-B5000-1BS020
PROFIBUS DP
(12 Mbps)
® Pg9 PUR - - 268-B5002-1BS020
>
A . M16 X 1.5 CC-Link PVC 269-A4000-3CS020 - -
, ) (10 MlIJn )
ps
\ 4 . © Pg9 PVC 269-A4002-3CS020 - -
F A M16 X 1.5 PUR - 269-A5000-1DS020 -
N \:' DeviceNet™
CANopen®
\ 4 A 9 Pg9 PUR - 269-A5002-1DS020 -
A 7 M16 X 1.5 PUR - - 269-B5000-1BS020
AN N PROFIBUS DP
\ 4 Pg9 (12 Mbps) PUR
" © 9 - - 269-B5002-1BS020

#5eF4% & 12474t / A-Code

7

M16 X 1.5 218-A3000-0VSL50 218-A4000-0VSL50 218-A5000-0VSL50 218-A8000-0VSL50 | 218-AC000-0VSL50

Pg9 218-A3002-0VSL50 218-A4002-0VSL50 218-A5002-0VSL50 218-A8002-0VSL50 | 218-AC002-0VSL50

"g%"’ \ / M16 X 1.5 219-A3000-0VSL50 219-A4000-0VSL50 219-A5000-0VSL50 219-A8000-0VSL50 | 219-AC000-0VSL50
i}*@

\‘ v Pg9 219-A3002-0VSL50 219-A4002-0VSL50 219-A5002-0VSL50 219-A8002-0VSL50 | 219-AC002-0VSL50

@

M16 X 1.5 232-A3000-S 232-A4000-S 232-A5000-S 232-A8000-S 232-AC000-S

Pg9 232-A3002-S 232-A4002-S 232-A5002-S 232-A8002-S 232-AC002-S

ngﬁqw ‘ M16 X 1.5 233-A3000-S 233-A4000-S 233-A5000-S 233-A8000-S 233-AC000-S
fw

‘ Pg9 233-A3002-S 233-A4002-S 233-A5002-S 233-A8002-S 233-AC002-S

\N M16 X 1.5 PVC 270-A4000-3CS020 - -
S .
S CC-Link
\ w (10 Mbps)
@ Pg9 PVC 270-A4002-3CS020 - -
&
) M16 X 1.5 PUR - 270-A5000-1DS020 -
& DeviceNet™
\ 4 J CANopen®
© Pg9 PUR - 270-A5002-1DS020 -
&t
S M16 X 1.5 PUR - - 270-B5000-1BS020
S PROFIBUS DP
\ .o (12 Mbps)
@ Pg9 PUR - - 270-B5002-1BS020
&
a e M16 X 1.5 PVC 270-B5000-1BS020 - -
{ CC-Link
‘ J) (10 Mbps)
@ Pg9 PVC 270-B5002-1BS020 - -
7
N
= y - M16 X 1.5 PUR - 271-A5000-1DS020 -
DeviceNet™
‘ 4 ) y CANopen®
@ Pg9 PUR - 271-A5002-1DS020 -
ki
\
= Ve M16 X 1.5 PUR - - 271-B5000-1BS020
PROFIBUS DP
‘ Y (12 Mbps)
i O] Pg9 PUR - - 271-B5002-1BS020

M16 X 1.5 220-A3000-0VSL50 | 220-A4000-0VSL50 | 220-A5000-0VSL50 | 220-A8000-0VSL50 | 220-AC000-0VSL50
Pg9 220-A3002-0VSL50 | 220-A4002-0VSL50 | 220-A5002-0VSL50 | 220-A8002-0VSL50 | 220-AC002-0VSL50
M16 X 1.5 221-A3000-0VSL50 | 221-A4000-0VSL50 | 221-A5000-0VSL50 | 221-A8000-0VSL50 | 221-AC000-0VSL50
Pg9 221-A3002-0VSL50 | 221-A4002-0VSL50 | 221-A5002-0VSL50 | 221-A8002-0VSL50 | 221-AC002-0VSL50

7

Egﬁbﬂm Pt M16 X 1.5 230-A3000-S 230-A4000-S 230-A5000-S 230-A8000-S 230-AC000-S
T
" Pg9 230-A3002-S 230-A4002-S 230-A5002-S 230-A8002-S 230-AC002-S
Eg"D"m \ M16 X 1.5 231-A3000-S 231-A4000-S 231-A5000-S 231-A8000-S 231-AC000-S
L 3
7 Pg9 231-A3002-S 231-A4002-S 231-A5002-S 231-A8002-S 231-AC002-S

34 Dinkle ==

== Dinkle 35




T F 2k & B4 4t / B-Code & D-Code

T F 2k & [B# 4t/ S-Code & T-Code

M16 X 1.5 218-B3000-0VSL50 218-B4000-0VSL50 218-B5000-0VSL50 218-D4000-0VSL50 M16 X 1.5 218-S3300-0MSL50 218-S4300-0MSL50 -
Pg9 218-B3002-0VSL50 218-B4002-0VSL50 218-B5002-0VSL50 218-D4002-0VSL50 Pg9 218-S3302-0MSL50 218-S4302-0MSL50
M16 X 1.5 219-B3000-0VSL50 219-B4000-0VSL50 219-B5000-0VSL50 219-D4000-0VSL50 M16 X 15 219-53300-0MSL50 219-54300-0MSL50 :
Pgo 219-B3002-0VSL50 219-B4002-0VSL50 219-B5002-0VSL50 219-D4002-0VSL50 Pgo S R LA S B LS )
7l
M16 X 1.5 232-B3000-S 232-B4000-S 232-B5000-S 232-D4000-S Pgo 218-T4302-0MSL50
Pg9 232-B3002-S 232-B4002-S 232-B5002-S 232-D4002-S e YIS
M16 X 1.5 233-B3000-S 233-B4000-S 233-B5000-S 233-D4000-S
Pg9 - - 219-T4302-0MSL50
7l
Pg9 233-B3002-S 233-B4002-S 233-B5002-S 233-D4002-S
W)
M16 X 1.5 220-B3000-0VSL50 220-B4000-0VSL50 220-B5000-0VSL50 220-D4000-0VSL50 ‘ V Pao 220-53302-0MSL50 290-54302-OMSL50
g R X i : R
o
Pg9 220-B3002-0VSL50 220-B4002-0VSL50 220-B5002-0VSL50 220-D4002-0VSL50 c@)us
4 2\ M16 X 1.5 221-S3300-0MSL50 221-S4300-0MSL50 -
4 \\
M16 X 1.5 221-B3000-0VSL50 221-B4000-0VSL50 221-B5000-0VSL50 221-D4000-0VSL50 Q o . S AL AL
7l 9 : : ) : :
Pg9 221-B3002-0VSL50 221-B4002-0VSL50 221-B5002-0VSL50 221-D4002-0VSL50 c@n:
= *@5—\ M16 X 1.5 - - 220-T4300-0MSL50
S
\wﬁ
Pg9 - - 220-T4302-0MSL50
#
M16 X 1.5 230-B3000-S 230-B4000-S 230-B5000-S 230-D4000-S
M16 X 1.5 - - 221-T4300-0MSL50
Pg9 230-B3002-S 230-B4002-S 230-B5002-S 230-D4002-S
2 Pg9 - - 221-T4302-0MSL50
‘S"'“Dm"‘ . M16 X 1.5 231-B3000-S 231-B4000-S 231-B5000-S 231-D4000-S
L 3
Pg9 231-B3002-S 231-B4002-S 231-B5002-S 231-D4002-S
EH
36 Dinkle == == Dinkle 37




B2k & E#7 %t / A-Code

M8 X 0.5 318-A3000-0VSL50 | 318-A4000-0VSL50 | 318-A6000-0VSL50 | 318-A8000-0VSL50 | 318-B5000-0VSL50

— Mt
ﬁ a E — \ (1 M8 X 0.5 319-A3000-0VSL50 319-A4000-0VSL50 319-A6000-0VSL50 319-A8000-0VSL50 319-B5000-0VSL50

N N A =] Jx s \ ok =1 == =2 = 2z
BTF M8 EiR N B Ef R EAREMEREMRZE, EBRTEANTARLIMESHINERE
E. T8 IEC-61076-2-104 1%+, 1RHEHIK IP67 SRR FIRF/KIERE, RERIGINFFHR M8 X 0.5 332-A3000-S 332-A4000-S 332-A6000-S 332-A8000-S 332-B5000-S
[yl = =
AHRER. .
®
N\ W
) M8 X 0.5 333-A3000-S 333-A4000-S 333-A6000-S 333-A8000-S 333-B5000-S
N
E@Iﬂ
ﬁ \ M8 x 1 320-A3001-0VSL50 | 320-A4001-0VSL50 | 320-A6001-0VSL50 | 320-A8001-0VSL50 | 320-B5001-0VSL50
T T §
wMERRE 100 60VAC / 4A (< 4 Pin)
UrEiat 2114 P68 HERE / BR 30VAC / 3A (5 Pin)
RIFRE -40°C ~80C 30VAC/1.5A (6 & 8 Pin) M10x0.75 | 321-A3002-0VSL50 | 321-A4002-O0VSL50 | 321-A6002-0VSL50 | 321-A8002-0VSL50 | 321-B5002-0VSL50
HYiE 0.2N:m fiRFE R /N 100MQ
REME 0.6 N'm e SR I i
S/ REER AEe/ & IEC 61076-2-104: Detail specification for M8
N connectors with screw-locking
S afsE PA
NABE ERALYER EitiRE IEC 60512: Electromechanical components for Dy
o sasmn electronic eq”imi]’:;::;i;zf‘i’;i procedure and M8 x 1 330-A3001-S 330-A4001-S 330-A6001-S 330-A8001-S 330-B5001-S
Ju =]
EHE NBR IEC-60529: Degree of protection provided
EE 2 PVC (UL AWM 1061) by enclosures (IP Code)
BRFE, FEUL M4 HB INIERRE UL 2238
FEXFHMENB SIS, PIRIEEERERTFECERIEFRET. MREERAPNESIBRISENER, NWLRERRIPEFR >IP54 KFFEHEE "
., TEZEEKL, B PCB A ERAIENE.

38 Dinkle == == Dinkle 39



Y23 | A-Code /| Rk

M16 X 1.5 276-A3000-6 276-A4000-6 276-A5000-6 276-A8000-6 276-AC000-6
Pg9 276-A3002-6 276-A4002-6 276-A5002-6 276-A8002-6 276-AC002-6
& @
|—‘—| )Iﬂ: O < M16 X 1.5 277-A3000-6 277-A4000-6 277-A5000-6 277-A8000-6 277-AC000-6
| N \
)/
@ Pg9 277-A3002-6 277-A4002-6 277-A5002-6 277-A8002-6 277-AC002-6
7l

¥23% / A-Code
BT;¥ M12 PCB NEEIZERZ NGNS, BEME LR E£EMZE PCB, 12 180° #190° /&0,
R#E IEC 61076-2-101 ¥R, Whdd. #Rkah. 5%, MISEEFEE, EREBEINTIRE
=P, RRHEESRRASIRRBEETIN, ERTEENARESLTIIRE.

M16 X 1.5 226-A3000-6 226-A4000-6 226-A5000-6 226-A8000-6 226-AC000-6
Pg9 226-A3002-6 226-A4002-6 226-A5002-6 226-A8002-6 226-AC002-6
M16 X 1.5 227-A3000-6 227-A4000-6 227-A5000-6 227-A8000-6 227-AC000-6
. Pg9 227-A3002-6 227-A4002-6 227-A5002-6 227-A8002-6 227-AC002-6
A & B & D-Code T-Code A & B & D-Code T-Code
Ui ias 21 P68 60VAC / 4A (5 Pin)
BERE / Bk 63V / 12A
5 fhosE o ane )
BERE -40C~80C SOVAC /2A (8 Pin) M16 X 1.5 228-A3000-3 228-A4000-3 228-A5000-3 228-A8000-3 -
HEHE 0.4 N-m 30VAC / 1.5A (12 Pin)
REME 0.8 N'-m M /) 100MQ
e EEg _ m " Pg9 228-A3002-3 228-A4002-3 228-A5002-3 228-A8002-3 -
S | REWE ek & IEC 61076-2-101: Detailspecifi- | IEC 61076-2-111:Circular | N\ M16 X 15 229-A3000-3 229-A4000-3 229-A5000-3 229-A8000-3 -
cation for M12 connectors with | connectors-Detail specification \
Bk PA screw-locking for power connectors with M12 ’
screw-locking lm
ANRIRE HEEER e IEC 60512: Electromechanical components for electronic Pg9 229-A3002-3 229-A4002-3 229-A5002-3 229-A8002-3 =
Jre . BitHRE equipment; basic testing procedure and measuring methods (0
T =] I
- IEC-60529: Degree of protection provided
FEE NBR by enclosures (IP Code)
FRAE4R, FFEUL 94 Vo iR UL 2238 ‘ UL 2237
ERFMENBSNMSE, SARIEEESRERHFEHEEMPEHRET. MREES[AVNERERSRNGRK, NWLHERRIFEFER >IP54 MR EEEE
. BEZRELL, B PCB EMFERIIFNT.

40 Dinkle == == Dinkle 41



)

¥&1E / B-Code & D-Code & T-Code / Rk

Lo 2 M16 X 1.5 276-B3000-6 276-B4000-6 276-B5000-6 276-D4000-6 276-T4300-6
N
e
" Pg9 276-B3002-6 276-B4002-6 276-B5002-6 276-D4002-6 276-T4302-6
R < N\ \ M16 X 1.5 277-B3000-6 277-B4000-6 277-B5000-6 277-D4000-6 277-T4300-6
o
Pg9 277-B3002-6 277-B4002-6 277-B5002-6 277-D4002-6 277-T4302-6

1212 / B-Code & D-Code & T-Code

M16 X 1.5 226-B3000-6 226-B4000-6 226-B5000-6 226-D4000-6 226-T4300-6
Pg9 226-B3002-6 226-B4002-6 226-B5002-6 226-D4002-6 226-T4302-6
M16 X 1.5 227-B3000-6 227-B4000-6 227-B5000-6 227-D4000-6 227-T4300-6
Pg9 227-B3002-6 227-B4002-6 227-B5002-6 227-D4002-6 227-T4302-6

kS

M16 X 1.5 228-B3000-3 228-B4000-3 228-B5000-3 228-D4000-3 -
Pg9 228-B3002-3 228-B4002-3 228-B5002-3 228-D4002-3 -
#t
:\\:\”\ M16 X 1.5 229-B3000-3 229-B4000-3 229-B5000-3 229-D4000-3 =
Q;m
' Pg9 229-B3002-3 229-B4002-3 229-B5002-3 229-D4002-3 =

W] M8 [RIfZ 125 B AIRE 8mm AHIIRSUEREMF P68 SfniFER, =1 Baitdh&
ERNEESRZ—, HHIEEFEUEARENMBEGRSEIAE. SR mllE TR

RN

BMERR S 100 B0VAC / 4A (< 4 Pin)
BEIFER IP68 30VAC / 3A (5 Pin)
BRERE -40°C ~ 80°C BBk / iR 30VAC / 1.5A (6 & 8 Pin)
HHAE 0.2N-m /)0 100MQ
RIEHE 0.6 N'‘m Lt 3BT I
S ®EER e/ & IEC 61076-2-104: Detail specification for M8
connectors with screw-locking
S8 af sk PA
IEC 60512: Electromechanical components for
) P S e electronic equipment; basic testing procedure and
T REAalR Bittig measuring methods
B EE HAEER
IEC-60529: Degree of protection provided
ek NBR by enclosures (IP Code)
PSR, FFE&UL 94 VO NEERE UL 2238

EREMENRSHNMSE, LHRIBERSRRBHACERNEHREF. MREERRYPERBRSRNRE, WLFERRIFER >IP54 HPTIFEHEE
., BELEELL, BYs PCB HHEMAIFIE.

42 Dinkle ==

== Dinkle 43



124 / A-Code & B-Code

\k\ i M8 X 1 326-A3001-4 326-A4001-4 326-A6001-4 326-A8001-4 326-B5001-4

) @m N —
® M10 X 0.75 327-A3002-4 327-A4002-4 327-A6002-4 327-A8002-4 327-B5002-4 I ' A Sy =

H]iF M12 BIRIEIZRRT 2 N A TR . RE[MTMB[FARRIRRE. SHEEBATES
630VHIRMHEE, THEMAT 63VEREE, SHMRAEEMS, SHMEEE, BIUH
. R ERAEID TN A RIRARE R

BMERRE 100 S-Code: 630VAC / 16A (3 Pin)
B ER IP68 TEHRE / aR S-Code: 630VAC / 12A (4 Pin)
BRIERE -40°C ~ 80°C (& AEERE) T-Code: 63VAC / 12A (4 Pin)
YR -25°C ~ 80C(HEABIMRE) ECE QU /v 100MQ
REME 0.4 N-m HHEESFR Il
B/ REER WeEE/ = IEC 61076-2-111: Circular connectors - Detail specification
for power connectors with M12 screw-locking
SHHE agExk PUR /PP
. - IEC 60512: Electromechanical components for
il NBR Bt electronic equipment; basic testing procedure and
B SAaSYEE measuring methods
o S-Code: PUR (UL AWM 20234) IEC-60529: Degree of protection provided
T-Code: PUR (UL AWM 20936) by enclosures (IP Code)
FRREHE, FFAUL 94 Vo MR UL 2237

EXFMENRSHNMS Y, LARIPERFRBHASERMEFREF. MRERFAVERBRSRNRE, WLHERRIFER >IP54 HBFFEHEE
i, ERFERELL, BYH PCBAERKITM.

44 Dinkle == == Dinkle 45



13 / S-Code & T-Code

201-83303-02S020 201-S4303-02S020 201-T4303-02S020
PUR 5m 201-S3303-02S050 201-S4303-02S050 201-T4303-02S050
10m 201-S3303-02S100 201-S4303-025100 201-T4303-028100
2m 202-S3303-02S020 202-S4303-025020 202-T4303-02S020
‘ PUR 5m 202-83303-02S050 202-S4303-02S050 202-T4303-02S050
i 10m 202-S3303-02S100 202-S4303-025100 202-T4303-028100
2m 203-S3303-02S020 203-S4303-025020 203-T4303-028020
PUR 5m 203-S3303-02S050 203-S4303-02S050 203-T4303-025050
10m 203-53303-025100 203-S4303-02S100 203-T4303-02S100
2m 204-S3303-02S020 204-S4303-025020 204-T4303-02S020
PUR 5m 204-S3303-02S050 204-S4303-02S050 204-T4303-02S050
Y
10m 204-S3303-02S100 204-S4303-02S100 204-T4303-02S100

WihiEsSk / S-Code & T-Code

0.6m 206-S3303-02SL60 206-S4303-02SL60 206-T4303-02SL60

PUR 1.5m 206-S3303-02S015 206-S4303-02S015 206-T4303-02S015
3m 206-S3303-02S030 206-S4303-02S030 206-T4303-02S030

0.6m 209-S3303-02SL60 209-S4303-02SL60 209-T4303-02SL60

PUR 1.5m 209-S3303-02S015 209-S4303-02S015 209-T4303-02S015
3m 209-S3303-02S030 209-S4303-02S030 209-T4303-02S030

0.6m 212-S3303-02SL60 212-S4303-02SL60 212-T4303-02SL60

PUR 1.5m 212-83303-02S015 212-S4303-028015 212-T4303-028015
3m 212-S3303-02S030 212-S4303-02S030 212-T4303-02S030

0.6m 214-S3303-02SL60 214-S4303-02SL60 214-T4303-02SL60

R 1.5m 214-S3303-02S015 214-S4303-02S015 214-T4303-02S015
3m 214-S3303-02S030 214-S4303-02S030 214-T4303-02S030

Ac

HT3E M8, M12 RFIZERL?
HEZR ( ﬁﬁ%ﬁiﬁﬁ&lﬁ%ﬁﬁﬁﬂ’ﬂﬁﬁiﬁ%ﬂ PCB X iE#£2%)
, R fE T A2 E iR TSR L R XU -

AR SERIRR 7K &

46 Dinkle ==

ERA TR PITEREL. FHEMIT /0 R &R EH

PURTHHE IP F R



M12 & M8 fig

7l

- 200-A001 - 300-A003 25

§
' - 200-A002 - 300-A005 25

il
M16 x 1.5, Pg9 200-A003 M8 300-A004 25

&
M16 x 1.5, Pg9 200-A004 M8 300-A002 25

RTEREER/AATER LT, HREERILIA /0 R & BARE AR M12 EHiR R, BiXE] P68 K FR.

It ZB LR 7k 25 AT 1A A T M1 2 E AR B Es

48 Dinkle ==




| —~—

DINKLE

HIFIEZERR D BRAT
DINKLE ENTERPRISE CO., LTD.

BEHMIETERXAN =195 Ghit=lEX)
No.19,Wuquan 2nd Road., Wugu District,

New Taipei City 24890, Taiwan
TEL:+886-2-8069-9000  7705-6900
FAX:+886-2-2290-1702 ({£%&S)
E-mail:service@dinkle.com

Web site:http//www.dinkle.com

B ¥ EIBRR D BRAT
DINKLE INTERNATIONAL CO., LTD.

BEFHIHTARX AN =195 Gt~ EX)
No.19,Wuquan 2nd Road., Wugu District,

New Taipei City 24890, Taiwan
TEL:+886-2-8069-9000  7705-6900
FAX:+886-2-2290-1702
E-mail:service@dinkle.com

Web site:http//www.dinkle.com

H ¥ B (PE)TRAT
DINKLE ELECTRIC MACHINERY (CHINA) CO., LTD.

IAERUT AT EAE LR EEX P IE3885(215343)
No0.388,Xingpu Mid RD,Shipu Business Adminstrcition Estate,
Qiandeng Town,Kunshan City,Jiangsu Province,China
TEL:+86-512-5708-8588

FAX:+86-512-5708-8600

E-mail:service@dinkle.com

Web site:http//www.dinkle.com

REILFBALFRAT
LIYAN ELECTRIC MACHINERY (DONGGUAN) CO., LTD.
I"RERRE ﬁiﬁlliﬁi%ﬂ%nﬁ%m—ﬁZ?(SZS?S?)

No.2, 1st street Jingianlin,Jiti gang industrial park,
Huangjiang town,Dongguan City, Guangdong Province,China
TEL:+86-769-8336-4350 8336-4370
FAX:+86-769-8384-8634

E-mail:service@dinkle.com

Web site:http//www.dinkle.com

H ¥ B0 1T

DINKLE CORPORATION, USA

12613 Executive Drive,Suite 704,Stafford, Texas 77477
TEL:+1-832-539-4703

Toll-Free:+1-844-273-1850

FAX:+1-832-532-7226

E-mail:service@dinkle.com.

Web site:http//www.dinkle.com

H¥RAMND 3
DINKLE ITALIA BUDGET ELECTRONICS

Via Stabilini n°14,23864 Malgrate(LC),ltalia
TEL:+39/0341176154
E-mail:service@dinkle.com.

Web site:http//www.dinkle.com

H¥BSBZ(LE8)BRAT
DINKLE ELECTRIC TRADING (SHANGHAI) CO., LTD.

LML XA R3S 5L 0 Z BE3706 £ 7T
Unit 3706, 2 Grand Gateway, No. 3 Honggiao Road,
Xuhui District, Shanghai City.
TEL:+86-21-6487-0636  6427-3157
FAX:+86-21-3356-2500

E-mail:service@dinkle.com

Web site:http//www.dinkle.com

1= 5 : Dinkle-dyjd
E-mail:Support. SH@dinkle.com.cn
Web site:http//www.dinkle.com

Dinkle remains the right of product modification and engineering change of design. The catalogue is for reference only.The final product is made according to
actual engineering drawing.

FATNESRARK, BTN, BRAHSE, THEERNERERIREENE.

2023/ Apr.




	封面
	2-25
	26-48
	封底



